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Section 2.3 Extra Practice

1. Calculate each answer by drawing and then counting the jumps needed.
a)4 - 0.5 =
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2. Calculate each answer mentally.
a)l1+05= b)3 +0.2=

3. Use front-end estimation and division to place the decimal point in the correct
position.

a) 21.3 + 6.4 = 3328 b) 8.4 +~ 0.32 = 2625

4. Divide. Then use estimation to place the decimal point in the correct position.
a) 225+ 5= b) 14.8 - 4 =

Estimate: = = Estimate: = =

5. Melissa earned $45.50 babysitting. She babysat for 7 h.
What was her hourly rate?
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